
PARISimulator useful equations

Implicit momentum diffusion

Predicted u-velocity implicit diffusion

dui,j,k =
2

ρi+1,j,k + ρi,j,k
(diffusionxy + diffusionxz) (1)

With:

diffusionxy =
1

dyj

[
µi,j,k + µi+1,j,k + µi+1,j+1,k + µi,j+1,k

4
· vi+1,j,k − vi,j,k

dxhi
− µi,j,k + µi+1,j,k + µi+1,j−1,k + µi,j−1,k

4
· vi+1,j−1,k − vi,j−1,k

dxhi

]
diffusionxz =

1

dzk

[
µi,j,k + µi+1,j,k + µi+1,j,k+1 + µi,j,k+1

4
· wi+1,j,k − wi,j,k

dxhi
− µi,j,k + µi+1,j,k + µi+1,j,k−1 + µi,j,k−1

4
· wi+1,j,k−1 − wi,j,k−1

dxhi

] (2)

Predicted v-velocity implicit diffusion

dvi,j,k =
2

ρi,j+1,k + ρi,j,k
(diffusionyx + diffusionyz) (3)

With:

diffusionyx =
1

dxi

[
µi,j,k + µi+1,j,k + µi+1,j+1,k + µi,j+1,k

4
· ui,j+1,k − ui,j,k

dyhj
− µi,j,k + µi,j+1,k + µi−1,j+1,k + µi−1,j,k

4
· ui−1,j+1,k − ui−1,j,k

dyhj

]
diffusionyz =

1

dzk

[
µi,j,k + µi,j+1,k + µi,j+1,k+1 + µi,j,k+1

4
· wi,j+1,k − wi,j,k

dyhj
− µi,j,k + µi,j+1,k + µi,j+1,k−1 + µi,j,k−1

4
· wi,j+1,k−1 − wi,j,k−1

dyhj

] (4)

Predicted w-velocity implicit diffusion

dwi,j,k =
2

ρi,j,k+1 + ρi,j,k
(diffusionzx + diffusionzy) (5)
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With:

diffusionzx =
1

dxi

[
µi,j,k + µi+1,j,k + µi+1,j,k+1 + µi,j,k+1

4
· ui,j,k+1 − ui,j,k

dzhk
− µi,j,k + µi−1,j,k + µi−1,j,k+1 + µi,j,k+1

4
· ui−1,j,k+1 − ui−1,j,k

dzhk

]
diffusionzy =

1

dyj

[
µi,j,k + µi,j+1,k + µi,j+1,k+1 + µi,j,k+1

4
· vi,j,k+1 − vi,j,k

dzhk
− µi,j,k + µi,j−1,k + µi,j−1,k+1 + µi,j,k+1

4
· vi,j−1,k+1 − vi,j−1,k

dzhk

] (6)
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Explicit momentum diffusion

Predicted u-velocity explicit diffusion

dui,j,k =
2

ρi+1,j,k + ρi,j,k
(diffusionxx + diffusionxy + diffusionxz) (7)

With:

diffusionxx =
2

dxhi

(
µi+1,j,k (ui+1,j,k − ui,j,k)

dxi+1
− µi,j,k (ui,j,k − ui−1,j,k)

dxi

)
diffusionxy =

1

dyj

[
µi,j,k + µi+1,j,k + µi+1,j+1,k + µi,j+1,k

4
·
(
ui,j+1,k − ui,j,k

dyhj
+
vi+1,j,k − vi,j,k

dxhi

)
− µi,j,k + µi+1,j,k + µi+1,j−1,k + µi,j−1,k

4
·
(
ui,j,k − ui,j−1,k

dyhj−1
+

(vi+1,j−1,k − vi,j−1,k

dxhi

)]
diffusionxz =

1

dzk

[
µi,j,k + µi+1,j,k + µi+1,j,k+1 + µi,j,k+1

4
·
(
ui,j,k+1 − ui,j,k

dzhk
+
wi+1,j,k − wi,j,k

dxhi

)
− µi,j,k + µi+1,j,k + µi+1,j,k−1 + µi,j,k−1

4
·
(
ui,j,k − ui,j,k−1

dzhk−1
+
wi+1,j,k−1 − wi,j,k−1

dxhi

)]
(8)

Predicted v-velocity explicit diffusion

dvi,j,k =
2

ρi,j+1,k + ρi,j,k
(diffusionyx + diffusionyy + diffusionyz) (9)

With:

diffusionyx =
1

dxi

[
µi,j,k + µi+1,j,k + µi+1,j+1,k + µi,j+1,k

4
·
(
ui,j+1,k − ui,j,k

dyhj
+
vi+1,j,k − vi,j,k

dxhi

)
− µi,j,k + µi,j+1,k + µi−1,j+1,k + µi−1,j,k

4
·
(
ui−1,j+1,k − ui−1,j,k

dyhj
+

(vi,j,k − vi−1,j,k

dxhi−1

)]
diffusionyy =

2

dyhj

(
µi,j+1,k (vi,j+1,k − vi,j,k)

dyj+1
− µi,j,k (vi,j,k − vi,j−1,k)

dyj

)
diffusionyz =

1

dzk

[
µi,j,k + µi,j+1,k + µi,j+1,k+1 + µi,j,k+1

4
·
(
vi,j,k+1 − vi,j,k

dzhk
+
wi,j+1,k − wi,j,k

dyhj

)
− µi,j,k + µi,j+1,k + µi,j+1,k−1 + µi,j,k−1

4
·
(
vi,j,k − vi,j,k−1

dzhk−1
+
wi,j+1,k−1 − wi,j,k−1

dyhj

)]
(10)

Predicted w-velocity explicit diffusion

dwi,j,k =
2

ρi,j,k+1 + ρi,j,k
(diffusionzx + diffusionzy + diffusionzz) (11)

With:
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diffusionzx =
1

dxi

[
µi,j,k + µi+1,j,k + µi+1,j,k+1 + µi,j,k+1

4
·
(
ui,j,k+1 − ui,j,k

dzhk
+
wi+1,j,k − wi,j,k

dxhi

)
− µi,j,k + µi−1,j,k + µi−1,j,k+1 + µi,j,k+1

4
·
(
ui−1,j,k+1 − ui−1,j,k

dzhk
+

(wi,j,k − wi−1,j,k

dxhi−1

)]
diffusionzy =

1

dyj

[
µi,j,k + µi,j+1,k + µi,j+1,k+1 + µi,j,k+1

4
·
(
vi,j,k+1 − vi,j,k

dzhk
+
wi,j+1,k − wi,j,k

dyhj

)
− µi,j,k + µi,j−1,k + µi,j−1,k+1 + µi,j,k+1

4
·
(
vi,j−1,k+1 − vi,j−1,k

dzhk
+
wi,j,k − wi,j−1,k

dyhj−1

)]
diffusionzz =

2

dzhk

(
µi,j,k+1 (wi,j,k+1 − wi,j,k)

dzk+1
− µi,j,k (wi,j,k − wi,j,k−1)

dzk

)
(12)
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Momentum convection

QUICK interpolation u-velocity

worki,j,k,1 =
...to be completed

A matrix: Poisson solver

Ai,j,k,1 =
2 · dt · umaski−1,j,k

dxi · dxhi−1

(
ρt(i−1,j,k) + ρt(i,j,k)

)
Ai,j,k,2 =

2 · dt · umaski,j,k
dxi · dxhi

(
ρt(i+1,j,k) + ρt(i,j,k)

)
Ai,j,k,3 =

2 · dt · vmaski,j−1,k

dyj · dyhj−1

(
ρt(i,j−1,k) + ρt(i,j,k)

)
Ai,j,k,4 =

2 · dt · vmaski,j,k
dyj · dyhj

(
ρt(i,j+1,k) + ρt(i,j,k)

)
Ai,j,k,7 =

6∑
n=1

Ai,j,k,n

Ai,j,k,8 = −
[
Svol +

u∗i,j,k − u∗i−1,j,k

dxi
+
v∗i,j,k − v∗i,j−1,k

dyj
+
w∗

i,j,k − w∗
i,j,k−1

dzk

]

(13)

Where Svol is a volume source such that ∇ · −→u = Svol.

Solving for P

Pi,j,k = (1− β) · Pi,j,k +
β

Ai,j,k,7
(Ai,j,k,1 · Pi−1,j,k +Ai,j,k,2 · Pi+1,j,k +Ai,j,k,3 · Pi,j−1,k +Ai,j,k,4 · Pi,j+1,k +Ai,j,k,5 · Pi,j,k−1 +Ai,j,k,6 · Pi,j,k+1 +Ai,j,k,8) (14)

Correcting velocities

un+1
i,j,k = u∗i,j,k − dt ·

2

ρi+1,j,k + ρi,j,k

pi+1,j,k − pi,j,k
dxhi

(15)
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